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workable but is still too broad and not novel.
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Hi and welcome back. This year, I'll would Specifically, what is the To Understlagd the (tilfference, assume ;hat J\ Q‘O‘/
like to continue our discussion on patent difference ? Why is there Z‘;Z Ilg\cl:zgoen tz gi;tg;a%’upzssle”?;ramm 0_)
clalms‘. This time round, | want to tell you a need for these two type ! er. pply <
about independent and dependent claims. of claims ? patent with three claims. % N
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’\/ Claim#1 states "A carriage with 4 elements. A: Carriage body, B: Engine, C: Wheels and D: Steering mechanism." Q_C’?,
Claim#2 states "The carriage of claim 1 with addition of E: Brakes." o)
Claim#3 states "The carriage of claim 2 with addition of F: Space to carry living being or things." {)
Claim#1 is an independent claim, while claim#2 and #3 are dependent claims because it refer to previous claim. % N
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But you can also interpret \ (Tom) copy your invention and created a lorry. (<Y
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Claim#3 is a carriage with elementA, B, C, D, E and . work becausé it does not have brake. The judge agreed. (2] £77.N
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Judge agreed.

Judge agreed and you win.




